
 

 

ICD-10-CM CHAPTERS 11-15 (MULTIPLE CHOICE) 
CPC® STUDY GROUP WITH LEGACY EDUCATION 

1. The provider documents CKD stage 5 and ESRD. What ICD-10-CM code(s) is/are reported? 
 
a. N18.5 
b. N18.4, N18.6 
c. N18.6, N18.5 
d. N18.6 
 

 
2. A female patient has osteoarthritis localized in the left hip joint due to senile osteoporosis. What ICD-10-

CM codes are reported? 
 
a. M16.7, M81.0 
b. M16.12, M81.8 
c. M16.12, M81.6 
d. M16.7, M16.12, M81.0 
 
 

3. A patient is having surgery to repair a recurrent left inguinal hernia without obstruction. What ICD-10-CM 
code is reported? 
 
a. K40.90 
b. K40.21 
c. K40.91 
d. K40.20 

 
 
4. What ICD-10-CM codes are reported on the maternal record for a delivery of triplets that are all liveborn at 

32 weeks of pregnancy? 
 
a. O30.103, Z37.51, Z3A.32 
b. Z37.9, Z3A.32 
c. Z37.61, O30.103, Z3A.32 
d. O30.109, Z37.9, Z3A.00 

 
 
  



 

 

5. Complaint: Back pain 
 
A patient was referred to the radiology department for chronic low back pain. The radiology report 
indicated there was no marrow abnormality identified and the conus medullaris was unremarkable. 
Additional findings include: L4–L5: There is a minor diffusely bulging annulus at L4–L5. A small focal disc 
bulge is seen in far lateral position on the left at L4–L5 within the neural foramen. No definite 
encroachment on the exiting nerve root at this site is seen. No significant spinal stenosis is identified. L5–
S1: There is a diffusely bulging annulus at L5–S1, with a small focal disc bulge centrally at this level. There is 
minor disc desiccation and disc space narrowing at L5–S1. No significant spinal stenosis is seen at L5–S1. 
The final diagnosis is minor degenerative disc disease at L4–L5 and L5–S1, as described. What ICD-10-CM 
code(s) is/are reported? 
 
a. M51.360, M51.370 
b. M51.370, M54.50 
c. M51.360 
d. M51.360, M54.50 

 
 
6. A woman with a long history of rectocele has perineal scarring from multiple episiotomies and has 

developed a rectovaginal fistula with perineal body relaxation. She has transperineal repair with perineal 
body reconstruction and plication of the levator muscles to correct these conditions. What ICD-10-CM 
codes are reported? 
 
a. N81.6, N90.9, M82.5 
b. N82.3, N90.89 
c. N82.5, N90.89 
d. N90.89, N81.6, N90.9 
 
 

7. A 55-year-old has developed a pressure ulcer on her right hip. The base of the ulcer is covered in eschar 
and the provider documents that the stage of the ulcer cannot be determined. What ICD-10-CM code is 
reported? 
 
a. L89.219 
b. L89.310 
c. L89.210 
d. L89.319 

 
 
  



 

 

8. A 70-year-old female patient presents with a complaint of left knee pain with weight bearing activities. She 
is also developing pain at rest. She denies any recent injury. There is pain with stair climbing and start up 
pain. AP, lateral and sunrise views of the left knee are ordered and interpreted. The diagnosis is left knee 
pain secondary to underlying primary degenerative arthritis. What ICD-10-CM code(s) is/are reported? 
 
a. M17.12 
b. M17.9, M25.561 
c. M17.9 
d. M17.12, M25.561 
 
 

9. A 40-year-old woman who is 25 weeks pregnant with her second child, is seeing her obstetrician. She is 
worried about decreased fetal movement. During the examination the obstetrician detects bradycardia in 
the fetus. What ICD-10-CM codes are reported? 
 
a. O36.8320, Z33.1, Z3A.25 
b. O36.8390, Z34.82, Z3A.25 
c. P29.12, Z3A.25 
d. O36.8320, O09.522, Z3A.25 

 
 
10. At 39 weeks gestation, a 26-year-old woman is admitted for precipitous labor and vaginally delivers a 

healthy baby girl. What ICD-10-CM codes are reported on the maternal record? 
 
a. O80, Z38.00, Z3A.39 
b. O80, 062.3, Z38.00, Z3A.39 
c. O62.3, Z37.0, Z3A.39 
d. O62.3, O80, Z37.0, Z3A.39 

  



 

 

ICD-10-CM CHAPTERS 11-15 (FILL IN THE BLANKS) 
CPC® STUDY GROUP WITH LEGACY EDUCATION 

1. The provider documents CKD stage 5 and ESRD. What ICD-10-CM code(s) is/are reported? 
 

ICD-10-CM: __________ 
 
 

2. A female patient has osteoarthritis localized in the left hip joint due to senile osteoporosis. What ICD-10-
CM codes are reported? 
 

ICD-10-CM: __________, __________ 
 
 

3. A patient is having surgery to repair a recurrent left inguinal hernia without obstruction. What ICD-10-CM 
code is reported? 
 

ICD-10-CM: __________ 
 
 
4. What ICD-10-CM codes are reported on the maternal record for a delivery of triplets that are all liveborn at 

32 weeks of pregnancy? 
 

ICD-10-CM: __________, __________, __________ 
 
 
5. Complaint: Back pain 

 
A patient was referred to the radiology department for chronic low back pain. The radiology report 
indicated there was no marrow abnormality identified and the conus medullaris was unremarkable. 
Additional findings include: L4–L5: There is a minor diffusely bulging annulus at L4–L5. A small focal disc 
bulge is seen in far lateral position on the left at L4–L5 within the neural foramen. No definite 
encroachment on the exiting nerve root at this site is seen. No significant spinal stenosis is identified. L5–
S1: There is a diffusely bulging annulus at L5–S1, with a small focal disc bulge centrally at this level. There is 
minor disc desiccation and disc space narrowing at L5–S1. No significant spinal stenosis is seen at L5–S1. 
The final diagnosis is minor degenerative disc disease at L4–L5 and L5–S1, as described. What ICD-10-CM 
code(s) is/are reported? 
 

ICD-10-CM: __________, __________ 
 
 
  



 

 

6. A woman with a long history of rectocele has perineal scarring from multiple episiotomies and has 
developed a rectovaginal fistula with perineal body relaxation. She has transperineal repair with perineal 
body reconstruction and plication of the levator muscles to correct these conditions. What ICD-10-CM 
codes are reported? 

 

ICD-10-CM: __________, __________ 
 
 

7. A 55-year-old has developed a pressure ulcer on her right hip. The base of the ulcer is covered in eschar 
and the provider documents that the stage of the ulcer cannot be determined. What ICD-10-CM code is 
reported? 
 

ICD-10-CM: __________ 
 
 
8. A 70-year-old female patient presents with a complaint of left knee pain with weight bearing activities. She 

is also developing pain at rest. She denies any recent injury. There is pain with stair climbing and start up 
pain. AP, lateral and sunrise views of the left knee are ordered and interpreted. The diagnosis is left knee 
pain secondary to underlying primary degenerative arthritis. What ICD-10-CM code(s) is/are reported? 
 

ICD-10-CM: __________, __________ 
 
 

9. A 40-year-old woman who is 25 weeks pregnant with her second child, is seeing her obstetrician. She is 
worried about decreased fetal movement. During the examination the obstetrician detects bradycardia in 
the fetus. What ICD-10-CM codes are reported? 
 

ICD-10-CM: __________, __________, __________ 
 
 
10. At 39 weeks gestation, a 26-year-old woman is admitted for precipitous labor and vaginally delivers a 

healthy baby girl. What ICD-10-CM codes are reported on the maternal record? 
 

ICD-10-CM: __________, __________, __________  



 

 

ANSWER KEY 
1. The provider documents CKD stage 5 and ESRD. What ICD-10-CM code(s) is/are reported? 

 
a. N18.5 
b. N18.4, N18.6 
c. N18.6, N18.5 
d. N18.6 

 
Rationale: According to ICD-10-CM guideline I.C.14.a.1 when both a stage of CKD and ESRD are 
documented, you assign only code N18.6. Verify code selection in the Tabular List. 
 

 
2. A female patient has osteoarthritis localized in the left hip joint due to senile osteoporosis. What ICD-10-

CM codes are reported? 
 
a. M16.7, M81.0 
b. M16.12, M81.8 
c. M16.12, M81.6 
d. M16.7, M16.12, M81.0 

 
Rationale: In the ICD-10-CM Alphabetic Index, look for Osteoarthritis/secondary/hip, guiding you to code 
M16.7. Secondary localized osteoarthritis is reported when the osteoarthritis develops as a result of an 
injury or disease (for example osteoporosis). The osteoporosis is coded as an additional code. In the 
Alphabetic Index, look for Osteoporosis (female) (male)/senile – see Osteoporosis, age related. 
Osteoporosis/age-related guides you to M81.0. Verify code selection in the Tabular List. 
 
 

3. A patient is having surgery to repair a recurrent left inguinal hernia without obstruction. What ICD-10-CM 
code is reported? 
 
a. K40.90 
b. K40.21 
c. K40.91 
d. K40.20 
 
Rationale: In the ICD-10-CM Alphabetic Index look for Hernia/inguinal/unilateral/recurrent referring you to 
K40.91. Verify code selection in the Tabular List. 
 
 

  



 

 

4. What ICD-10-CM codes are reported on the maternal record for a delivery of triplets that are all liveborn at 
32 weeks of pregnancy? 
 
a. O30.103, Z37.51, Z3A.32 
b. Z37.9, Z3A.32 
c. Z37.61, O30.103, Z3A.32 
d. O30.109, Z37.9, Z3A.00 

 
Rationale: Look in the ICD-10-CM Alphabetic Index for Pregnancy/triplet O30.10-. In the Tabular List, 
additional characters are required to indicate the number of placenta and the number of amniotic sacs. 
Because you do not have that documentation, 0 for unspecified is reported as the 5th character. The 6th 
character 3 is reported to indicate the 3rd trimester (trimesters are listed at the beginning of Chapter 15 in 
the ICD-10-CM codebook). The complete code is O30.103. Next, look in the Alphabetic Index for Outcome 
of Delivery/multiple births/all liveborn/triplets Z37.51. The last code indicates the weeks of gestation. 
Documentation indicates she delivered at her 32nd week. Look in the Alphabetic Index for 
Pregnancy/weeks of gestation/32 weeks Z3A.32. Verify code selection in the Tabular List. 

 
 
5. Complaint: Back pain 

 
A patient was referred to the radiology department for chronic low back pain. The radiology report 
indicated there was no marrow abnormality identified and the conus medullaris was unremarkable. 
Additional findings include: L4–L5: There is a minor diffusely bulging annulus at L4–L5. A small focal disc 
bulge is seen in far lateral position on the left at L4–L5 within the neural foramen. No definite 
encroachment on the exiting nerve root at this site is seen. No significant spinal stenosis is identified. L5–
S1: There is a diffusely bulging annulus at L5–S1, with a small focal disc bulge centrally at this level. There is 
minor disc desiccation and disc space narrowing at L5–S1. No significant spinal stenosis is seen at L5–S1. 
The final diagnosis is minor degenerative disc disease at L4–L5 and L5–S1, as described. What ICD-10-CM 
code(s) is/are reported? 
 
a. M51.360, M51.370 
b. M51.370, M54.50 
c. M51.360 
d. M51.360, M54.50 

 
Rationale: Look in the ICD-10-CM Alphabetic Index for Degeneration, degenerative/intervertebral disc 
NOS/lumbar region/ with discogenic back pain directing you to code M51.360. Look in the ICD-10-CM 
Alphabetic Index for Degeneration, degenerative/intervertebral disc NOS/lumbosacral region directing 
you to code M51.370. Verify code selection in the Tabular List. The low back pain is a symptom of the 
degenerative disc disease and is not reported separately. 

  



 

 

6. A woman with a long history of rectocele has perineal scarring from multiple episiotomies and has 
developed a rectovaginal fistula with perineal body relaxation. She has transperineal repair with perineal 
body reconstruction and plication of the levator muscles to correct these conditions. What ICD-10-CM 
codes are reported? 
 
a. N81.6, N90.9, M82.5 
b. N82.3, N90.89 
c. N82.5, N90.89 
d. N90.89, N81.6, N90.9 
 
Rationale: The patient has a history of the rectocele; you will not report code N81.6 because that indicates 
she has a current rectocele. The first diagnosis is rectovaginal fistula. Look in the ICD-10-CM Alphabetic 
Index for Fistula/rectovaginal which directs you to N82.3. The second diagnosis is perineal scarring. Look in 
the Alphabetic Index for Scar, scarring/vulva which directs you to N90.89. Verify code selection in the 
Tabular List. 
 
 

7. A 55-year-old has developed a pressure ulcer on her right hip. The base of the ulcer is covered in eschar 
and the provider documents that the stage of the ulcer cannot be determined. What ICD-10-CM code is 
reported? 
 
a. L89.219 
b. L89.310 
c. L89.210 
d. L89.319 
 
Rationale: Refer to ICD-10-CM guideline I.C.12.a.2. If the pressure ulcer is documented as unstageable, 
assign L89.--0. Unstageable is when the base of the ulcer is covered in eschar or slough so much that it 
cannot be determined how deep the ulcer is. This diagnosis is determined based on the clinical 
documentation. This code should not be used if the stage is not documented. In that instance, report the 
unspecified code, L89.--9. In the ICD-10-CM Alphabetic Index, look for Ulcer, ulcerated, ulcerating, 
ulceration, ulcerative/pressure (pressure area)/unstageable/hip which directs you to L89.2-. In the Tabular 
List the 5th character 1 indicates the right hip and 6th character 0 indicates unstageable. 
 
 

  



 

 

8. A 70-year-old female patient presents with a complaint of left knee pain with weight bearing activities. She 
is also developing pain at rest. She denies any recent injury. There is pain with stair climbing and start up 
pain. AP, lateral and sunrise views of the left knee are ordered and interpreted. The diagnosis is left knee 
pain secondary to underlying primary degenerative arthritis. What ICD-10-CM code(s) is/are reported? 
 
a. M17.12 
b. M17.9, M25.561 
c. M17.9 
d. M17.12, M25.561 
 
Rationale: The scenario is reported with one ICD-10-CM code. In the ICD-10-CM Alphabetic Index look for 
Arthritis, arthritic/degenerative, which directs you to see Osteoarthritis. Osteoarthritis/primary/knee 
directing you to M17.1. A 4th character is required to report the laterality. Report code M17.12 for left knee. 
You do not report the ICD-10-CM code for knee pain as this is a symptom of the degenerative arthritis and 
is not reported separately. 
 
 

9. A 40-year-old woman who is 25 weeks pregnant with her second child, is seeing her obstetrician. She is 
worried about decreased fetal movement. During the examination the obstetrician detects bradycardia in 
the fetus. What ICD-10-CM codes are reported? 
 
a. O36.8320, Z33.1, Z3A.25 
b. O36.8390, Z34.82, Z3A.25 
c. P29.12, Z3A.25 
d. O36.8320, O09.522, Z3A.25 
 
Rationale: In the ICD-10-CM Alphabetic Index look for Pregnancy/complicated (by)/abnormal, 
abnormality/fetal heart rate or rhythm, guiding you to O36.83-. The 6th character is 2 because the patient is 
in her second trimester at 25 weeks. 7th character 0 is reported for a single gestation. Refer to the 
beginning of Chapter 15 in the Tabular List that indicates what the certain number of weeks are for the 
trimesters. Pregnancy after age 35 is considered an elderly pregnancy. In the Alphabetic Index, look for 
Pregnancy/complicated by/elderly/multigravida (because this is her second pregnancy), guiding you to 
subcategory code O09.52-. In the Tabular List the 6th character 2 is reported to indicate the patient is in 
her second trimester. For a listing of trimesters by weeks see the beginning of ICD-10-CM chapter15. There 
is also a note at the beginning of chapter 15 indicating to use an additional code from category Z3A to 
identify the specific week of the pregnancy. Locate code Z3A in the Tabular List indicating Z3A.25 is the 
correct code for 25 weeks’ gestation or look in the Alphabetic Index for Pregnancy/weeks of gestation/25 
weeks directing you to Z3A.25.Codes Z33.1 and Z34.82 are only reported when there are no complications 
documented. Code P29.12 is only for use after the baby is born and not on the mother’s record. Verify code 
selection in the Tabular List. 

  



 

 

10. At 39 weeks gestation, a 26-year-old woman is admitted for precipitous labor and vaginally delivers a 
healthy baby girl. What ICD-10-CM codes are reported on the maternal record? 
 
a. O80, Z38.00, Z3A.39 
b. O80, 062.3, Z38.00, Z3A.39 
c. O62.3, Z37.0, Z3A.39 
d. O62.3, O80, Z37.0, Z3A.39 
 
Rationale: The labor is precipitous. In the ICD-10-CM Alphabetic Index, look for Delivery (childbirth) 
(labor)/complicated/by/precipitate labor directing you to O62.3. ICD-10-CM guideline I.C.15.n.1 states that 
code O80 is reported for a full-term normal delivery of a single, healthy infant without any complications 
antepartum, during the delivery, or postpartum during the delivery episode. Code O80 is not to be 
reported with any other pregnancy complication code from chapter 15. In this case, O62.3 is reported for 
the complication and the normal delivery code (O80) is not reported. The outcome of delivery is also 
reported. Look in the Alphabetic Index for Outcome of delivery/single/liveborn directing you to Z37.0. 
Code Z38.00 is only to be used on the newborn’s record, not the maternal record. At the beginning of 
chapter 15, there is a note to use an additional code to report the weeks of gestation. The patient is 39 
weeks gestation. Look in the Alphabetic Index for Pregnancy/weeks of gestation/39 weeks directing you to 
Z3A.39. Verify the code selection in the Tabular List. 


